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(b)

fc) wfEmT

(d) fedt

4. SEmenfinE@ e Wt

(@) 30 FAFH

(b) TE T

(c) Gferr adum
(d) |fam s

UFTE W A E
(a) FHuTZ

{c) &%

T v e

(a) 3+ 31
(€) 9+ a3

(b) A+ 3FH
(d) ¥ +3H
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2 & 11 F I TE TR A IeR 9T <R ;

F wet A Teft W F w1 ET wE W@
wed Tifera g &, I Wk wf SeRal
T F ST o A B | g AT F A N
e IEETE & 47 MR B W 7 | vt HEe
% |z oy o v Teda 3, e
ATITE, 121 A1 g 1 AT T Al | 39w
&1 AT 1 WA ST T FE o =TT 3
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(ay 4 I?}“j !
(C) ga=TT

(b} aFTE
(dy 2FTETAl

8. Fedlia & foro faew werr ) wld
(by ==atar afw sifei

(d) HIEH, To 37T %5 g & 90

9. Il A= g st o
SR ?

(a) ICATE & F=Td
() e % 3r=niq
() % % =TT
(d)

2 & 3T
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The phrase "Pyrrhic victory” 8tands
for

(a) easy victory

(b) honest victory

() victary at a high cost

(d) victory at a low cost

Choose the word which iS OPROsitg in
meaning to 'VENERATE".

(a) respect

(py condemn

(c)
(d) initiate

savere

Change the following sentence into
complex sentence :

‘Without your help he can do nothing.'
(a) Without your help what can he do
(b) Unless you help him he can do
nothing

He can do nothing without your
help

He can not do anything unless

you help him

(c)

(d)

Identify the part of speech of the
underlined word :

The boys ran round the tree.
adjective

adverb

noun

(a)
(b)
(c)

preposition

(9

25,

26.

LE

28.

followind aaflaras 1His

Changaf;:’ni :
i ar gald, "Be fulat, by’
e teactgaoher sald that the biery 6
i Tﬁsum pe quiel |
" rgacher caller) the biys arit
& Tgasrad tham to be quist
(c) ghg gacher urged the boys 10 te
C
ulet
(d) ‘c;he tgacher commanded the Hrys
that they be auist

Complete the sentence with suitable

alternative :
The son asked his mother if he

can go pout
may go out
{cy might go out

(d) did go out
Fill in the blank with the approprigie

(a)
(b)

word :
It is difficult for me to part

my belongings.
(a) with

(b) from

{e) away

(d) off

Pick out the synonym of 'ERUDITE’
from the following.

(a) execute

(b) expanse
(c) academic
(d) eettle
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31

ot LU

o Chatye e diven centence into
paggive vore

who hitted the snake *

(@ Whe was hilled py the snake ?
B By whom was the enake killed ?
(¢) The shake was peing killed.

(d) By whomis the gnake killed ?

Eil in the blank with the correct
pption

| tried to help him __———
pest of my ability.

{a) at

(b) to

(c) from

(d) ot

Instruction tor Question Nos 31 to 35!

the

Read the following passage carefully and
answer the questions that follow :

Speech is a great blessing butitcan also be a
great curse; for while it helps us to make our
?ntentions and desires known to our fellows,
it can also, if we use it carelessly, make our
attitude completely misunderstood. A slip
of the tongue, the use of an unusual word,
or of an ambiguous word, and so on, may
create an enemy where we had hoped ‘m win
a friend. Again different classes of people
use different vocabularies and the rczurdirlpr
speech of an educated man may strik b
uneducated listener as pompous, Unwn”B aIn
we may use a word which hears g j bl
meaning to our listener from what | o
to men of our own class. Thyg g dot-:ts
not a gift to use lightly without thopBBCh .
one which demands careful hanm.ught' ik
a fool will express himself alike 1 i
and conditions of men. reallideids

33.

34.

35.

GCTWY-az

Thenasxwag o win z fend s
Svaig

(@) irony in speech

®) pomposity m speech

(€) verbosity in speech

i ambiguity in speech

While talking to an uneducsted persor.
we should use

(a) ordinary speech

(b) his vocabulary

(¢} simple words

(d) polite language

If one uses the same style of kenguage
with every one, one sounds

(a) flat

(b) boring

(o) foolish

(d) democratic

Speech becomes & curse, if it
(a) hurts others

(b} leadsto carelessness

(c) creates misunderstanding
(d) reveals our intentions

Speech is & gift, it it
(a) creates contusion

(&) communicates our meaning
clearly to our fellows

becomes ambiguous
is used lightly

(c)
(d)
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3a.

n & oartam code, PAN is wntten as 31
and PAR s written as 35, then in this
oo0a, PAT s written as

@& D
o 37
iy 38
o 39

In the process of communication, the
iaststep is

(@ Encoding

(®) Message

() Decoding

(d) Feedback

Communication that used to assign
goals o sub-ordinates inan organisation,
s called

(a) Upward communication

® Downward communication

{c) Informal communication

(d) Lateral communication

Which of the following is not a
communication barmier in a workplace ?

(a) Noise

(b) Prejudice

(6 Active istening
(d) Improper medium

36w R T2 8 PAN # 31 famd & ol
PAR ! 35 foi@ §, @ g g2 1 PAT 4
o s 7

(a) 30
(b) 37
(c) 38
(d) 39

37, HWENU ¥ WepH H Ao =TT
(a) e
(b) west
(c) fargdhe
() sergfee
38. forell WA A a e S orfreat w

el ! fifde #  fore v fomar <t
2, FEa 8

(a) SweamHt Ty
(b) eI oy
(c) T Hemo
(d) wifvde
39, P § & SR- fdh s
e ) e A A R Y
(a) TR

(b) YHTE
(c) s

() ST A



% The Vision
-ll-”

&0, Which nuer ghould De 11 The place

GCTWY-02

49 Wﬁmm%mwm‘

of the question rark in the Soliowing 7 o zzvn PN
5 'y
19 -

(a) 5876 (a) 5876
(b) 5666 () 5866
) 5776 (c) 5776
(d) 5766 (@) 5766

41, Which order of the following words is | 41, &q‘hﬁﬁ‘iﬁ!‘ﬁﬂh—mﬂw?
comect ?

(a) Dageston. masgficafion, COOKING
() Coalding, digestion, mastcation (c) I, TR, AT
{9 Coolking, mashication, digestion (d) =, FaH, T

(a) FEHI, A, T
(b) ==HI, =, I

42. ‘Aplart is a vegeiable organisn is an | 42. “draies averfa S ¥ 32 2R @

F f ( } ] ;
a mb% qﬁ'_ﬂlﬂ- 1=
fﬂ] i’QUIHﬂVE{}e:ﬁrfﬁm

(b) Negative definition iR
{c) Synonymous definition (©) N
(d) Accidental definition (d) v gham
43. K+ means’x’, ' means’s’,'Kmeans | 43. AR vWMIA N g o
oA P : = mm
~ and ‘<" means '+ thend4+8-2x s P ¥ iy '
e AN = = 3k £33,
4‘-‘8“2)(2-}-4:?
(a 4 (@) 4
b 0 (b) O
(c) 8 o m
@ 6 L
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44. Check the following three statements :
1. Kamla is not Ravi's wife.
2. Premlata is Ravi's mother.

3. Sita is the only daughter-in-law of
Premlata.

What conclusion can be drawn from
the above mentioned statements ?

(a) Kamla is sister of Sita.
(b) Premilata is mother of Kamla.
(c} Sita is Ravi's wife.

(d) Kamila is daughter-in-law of
Premlata.

45 Which of the following conclusions can
be validly drawn from the given set of

premises 7

1. No hero is coward.

2. Some soldiers are cowards.
Conclusions :

(a) No soldier is coward.
(b) All soldiers are heroes.

(c) Some soldiers are not heroes.

(d) Some soldiers are heroes.
46. ‘Division of Indians into rich, poor,
intelligent and dull’ is an instance of
(@) Cross division
(b) Physical division
(c) Metaphysical division

(d) Logical division

44,

Frferfiaa R o e AL

1 e & g 7d 2

o tmera AR wi

5. e e 1 e TR
Ifaa oA 9 Fy g e FEFE S
TFae !

(a) e € )

(b) rtal R I 7 2

SRR EEIR

(d) T YHETT ht gy |
ST % ol TR wae § fFrefaiaa 0
B T Frepd 3y w9 9 Fseran 2 7

1. FE oft FeTg FR A B 2

2. Fo Had Fer 7d €

Foreaed .

(@) =i foame R =i S|

(b) &t faort s A ¥

(c) F Teramel s e & & |

(d) F oo segea ® |

45.

‘it w1 e, Wi, FREE™ qep

(a) fafia fowsa =
IR UGEAERIEEED
() Iefeies s &
(d) iehe fenTe

46.
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Whach one of
Mm#.::i\\mg fiqures is

@ @
@
A
=t

(c)

(d)

Consider the following arguments :

A. All poets are idlers.

B. No poets are idlers.

Which of the following conclusion can
logically be drawn ?

(a) A can be true and B can be false
(b) A can be false and B can be true

() Both statements A and B can be
false
(d) Both statements A and B can be

true

Which one of the following pairs has the
same connection as in between GJ and

Qu ?
(a) BC and WZ

(b) ABand ST
() AD and SW

% The Vision

Qctwy 02

7. By orgel A QA A AR R

\a)

B: ré R ST T B R

Bres P 1 & e - R b T
1k i

() AH AUl B 3EE | HFAl &

(b) A TE a1 B € & Hhell &
(c) A3 B I T S B THd &
(d) A3 B I FF T B THd &

49. P 7o ¥ el o T 3,
GJAMQUFHERR ?
(a) BCIRWZ
(b) AB ST
(c) AD 3R SW
(d) DH 3 vy

(d) DHand vy
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50. W%@Fﬂﬂaﬂﬁ%ﬂ@Tmﬁ

Which number will come next in the
following series ?
o, 16, 51,168, 7
(a) 1454

(c) 1452

(b) 483
(d) 481

Which one of the following is different
from the others 7

DFH, KMO, RTV, TWZ

(@) KMO (b) RTV

() TwZ (d) DFH

If the 4" day of a month is Saturday,

which day will be the 5 day befare 26"

of this month ?
(a) Monday (b) Tuesday

(c) Friday (d} Sunday

Complete the sequence with the correct
option from the following codes :

MTWT,
[ay F,S,T w F,S5,S
[ = N N (d) T,F,S

Two Americans are going. One is father
of the son of the other. What is the
relationship between the two ?

(@) Father — Son

(b) Mother - Son

() Mother ~ Daughter
@) Husband - wite

a2l

De.

23.

-10-

54.

a7t ¢
5,16,51, 158, 7

(a) 1454 (b) 483
(c) 1452 (d) 481

et i & 2 o oA A P R 7

DFH, KMO, RTV, TWZ

(a). KMO (b) RTV

(c) TWZ (d) DFH

afe el e 1 e o a8, T 38
TR ¥ 26 3 &4 & 5 R4 weer i w1 fe
(a) BWIHAR (b) HerET

(c) TFAR (d) TRER
g@m%‘ﬂﬁﬁ‘vﬁﬁi{ﬂ
MT.WT, ., -
(a) F, ST (b) F, 8, S

) S, F.T d) T.F, 8

2 SR S § | O G 5 A fiy
Tl g EEue?

(a) foai-gm
(b) HidT-TA
(c) ww-TA
(d) qfd-gcil
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56. How many natural nympers are there

i 55. J32. EL

in between /841 and 3249 ? qﬁﬂ 3249 # 4 1T
o (b) 27 (a) 26 (b) 27

e (d) 29 (c) 28 (d) 29

56. 1f 20% of (X +Y) = 509% of (X = Y),

56. =f3 20% = (X = Y) %1 50% B,
then X : Y is equal to LA ) (

Xy & aoE B

(@ 3:7 (b) 5:7 (@) 3:7 (b) 65:7
© 7:3 (d) 7:5 (c) 7:3 (d) 7:5
57. If the compound interest on a sum . uﬁqasrrﬁlamzafﬁﬁw-;—%ﬁﬁﬁﬁﬁ

for 2 years at 12%% per annum is

T 340, then the simple interest on the
same sum at the same rate for the

T TG T T 340 B, 7 3¢ & B wniA
ot ut 32l araft & ford v s #41

same period of time is Bm 7
(a) ¥ 310 By T 320 (a) T310 (b)y T 320
(¢) %330 (d) % 335 (c) T330 (d) 335

58. The area of the given circle is 36x. It 58, f22 112l g = EE%A 367 B | g 6 HUAH
has been divided into six equal pars. st 8 st T & 1 =T PQ £ a1
The length of arc PQ will be : ! ﬁ"é ;

@ B3 S+
59. A right angled triangle having 59. @Wﬁ‘ﬁa?ﬁl, o =01 25 o), B

hypotenuse 25 ¢m and sides are in LG ﬂﬂﬁ 3:4% HALdr | R, =0 % uftey:
the ratio 3 : 4 is made 10 revolve about iG] T T B lﬁmﬁﬁam
its hypotenuse. The volume of the 1 AT 2

double cone SO formed is (@) 10007 &k

(@) 10007 o™ (b) 1250% i

(b) 1250n cm? () 1500 ufpo

(c) 1500w cm” (d) 1575n Ffe

(d) 15757 cm?®
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X ¥ LW
it 2,3 = & then value of LY

ERCTRITETR TR

(@ 0
() by
(©) Y
(& 1

IEX0 v, 2 are poaitive Itegers aueh that
Xov=1:2andy 2=3. 5 thei whioh

ane of the tollowing will be possible
value of bhx = Uy ¢+ 2 9

(a) 180
(b) 190
(&) 196
(d) 200

It x =2 is a factor of palynomial
¥+ 4x° = 3x = 18, then it's othar

factors are

(@) x+2 x+3
(b) x=3,x+1
(c) x+3, x+3
(d) x+1,x+2

The roots of the equation X° 4 PXCt th g
are 1 and 2, the roots of the equé 9]

qx* = px + 1 = 0 must be
il
(a) 1,2
1
-1

:
(b) -3
i
©® -2

)
(d] -1, 2

A2

v :
a0 aj Y- il . ”.'ﬁ- i 11

0l

G2,

63.

y oX
wifatd
(a) 0
(h) W
() s
(d) |

xy Y

IR %, y, 2 ¥stte e e ga sl AT
Kiyed 2oty 2=3:6,d
[t {eq et 1Y Q) Al ur f5x = By + 2 30
4V e A 7

(a) 100

by 190

(0) 108

() 200

R AT X dxd = Ox = 18
Usl) UL HEYS X — 2 B, ) g 4
JURLELER:

(a) x+2,x+3

(b)) x=3, x 1

(@) x+3, x+3
(d) X+ 1, x+2

Ul % 4 px+ qu OW e 1 dur 28,
o) quiewr gt = px + 1 = 0 F IE BN

1
@ 1,3

1
©) =71

1
(C) _E|_1



68. Which decision making style is most
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p4. Which is not @ part of communication
process 7

(a) Medium

(b Life values and vision

(c) Transmission

(d) Information

Which of the following characteristics
is most important for taking appropriate
decisions for socially disadvantaged
persons ?

(@) Empathy

(b) Extroversion

(c) Emotional instability

(d) Authoritarianism

The biggest advantage of regular
interaction between officerand
sub-ordinates in an organization IS

{a) I satisfies the sub-ordinates

(b) It results in decrement group
relations

(G} It facilitates effective decision
making

(d) Itdiscourages the sub-ordinates

67. lIrrational decisions taken in a high

conformity group is called
(a) Creativity

(6} Group thinking

(c) Informality

(d) Psychological vigilance

productive ?

(a) Passive

(b) Aggressive

(c) Assertive

(@) Passive-aggressive

-13-

65.

66.

67.

68.

SRR

(a) wrem

(b) Shemrme v 3

(c) Hamm

(d) =

Rty 3 @ AT RS
9 9 g st 5 fere, I BT €6
F foru s we ol @ ¢

(@)

(b) =fed@an
(c) Hamrens e

(d) HemETiedl

el i & oHfteRr) e STefie < A
frrfir Tt o G el e € & 16
(a) 7% srefiaeell 1 A WaH el @
(b) T% g Gedl bt HeTdl &

(©) e e P Ffon = g et
(d) @' el = edreE st &

I TET T # forw o st ok
FEA &

(a) Wﬂ??ﬂ

(b) ¥HE A

(c) FIATHEHAT

(d) HARTHE ashar
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Whhe selling a watch, a shopkeeper
gives discount of 5% on it's marked
price. If he gives discount of 10%, then
hg eams T 25 less as profit. Marked
price of the watch is

(a) ¥ 300
(b) ¥ 380
© T 500
(d)y ¥ 700

A student has to secure 45% of marks
to pass an examination. He gets only
50 marks and faills by 4 marks. The

maximum marks 1s

(a) 110

() 120

(c) (135

(d) 150

10 women can complete a work in
7 days and 10 children take 14 days to
complete the same work. How many
days will 5 women and 10 children take
to complete the work ?

(a

)
b)
)
)

—

c
(d

-~ n B W

The average age of a husband and hi;-:
wife was 23 years at the time of their
marrnage. After 5 years, they have a

one-year old child. The average age of

the family now is
(a) 19 years

(b) 23 years

(c) 28.5 years
(d) 29.3 years

A4

69. T T FN e ey o et 0 IR

70.

71.

Firis

el T 5%H o 3y 3 ufld 1w 10% A A
&, 38 A Fgy if 7 25 %A A A
1) A 3 e

(a) T 300

(b) ¥ 380

(c) T 500

(d) T 700

e 1T B U ) et B % Fow, 459
37 T H B § | @8 Fae 50 37 T
7l 2 3N 4 A & srEHe § I8 |
sferahad 37 F1 g 7

(@) 110

(b) 120

() 135

(d) 150

ua & w10 900 7 A A qu o danet &

3 3t = &1 10 7= 14 A o g
gad & | 29 S & 5 3fd aur 10 =2

fober) Tt 1 qu 0 7
(a) 3
(b) 4
© 5
(d)y 7

T 35 g ek 9 310 I U B ey
g 23 ad oft | 598 WG, IH Urg 1 g8 =y
;‘?T%iaa@qﬁanﬁaﬁqamam
(@ 19349

(b) 23

(c) 28.57d

(d) 29.3 34



74.

76.

% The Vision

73. Emymldpmmnmcanbe

M a day. Therefore all novels

of Premchand can be read in a day.
TTEIersmeta“acyof

(a) Division

(6) Gomposition
(c) Petitio principii

Assertion (A} : Education is must for
SUCCesS.

Reason (R) : Education is key to
SUCCESS.

Select the correct answer from the
code given below :

{a) Both (A} and (R) are true and (R)
is the correct explanation of (A)
Both (A) and (R) are true but (R) is
not correct explanation of (A)

(A) is true and (R) is false

Both (A) and (R) are faise

(D)

(c)
(d)

“Iron is a cheap metal' is an example of
(a) Accidental definition

(b) Figurative definition

(c) Synonymous definition

(&) Too narrow definition

‘Division of chairs into leg, back and
seat is an instance of

(a) Logical division
() Physical division

(c) Cross division
(d) Metaphysica division

re positive integers such

value of X2 + ¥ will b;) aE
(@) 90

74.

5.

76.

77.

(©) 72 (d) 65

-15-

73.

VR ey w9

THA R | gafer Y & ol 39 TH

87 3 3 oy g & | g FrfRr ek Qe B

(a) fame

(b) R

(c) 3TeaTy .

(d) Iwea & g S Tl

M[A};W%%ﬂwmﬁﬁl

W1 (R) - Ryean goverdt i gl @ |

(a) (A) Tl (R) 21 84 & 31 (R), (A)
1 9} = 8

(%) (A) @ (R) 21 & & fobeg (R), (A)
£ g = T8 8

(c) (A)HeT & 3 (R) o8 &

(d) (A) 3T (R) SF e &

“Sre1 U wedl UTg B A8 S &
(a) SATHEF TR

(b) TR TR &1

(c) watgaTE afears &

(d) TSR TICATST =1

‘gt & 7w, e fewm a3
e’ T IETET @

(a) dfera fandTer =

(b) ifee ferarsra =1

(c) s fersr =t

(d) et faasm =

uﬁxaﬂiymmsﬁm%%
x?-y2=13,?ﬁx2+y??ﬂmm€m
(a) 90 (b) 85
(c) 72 (d) 65
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T8 The diagonals of a rthombus arg of

lengths 24 ¢cm and 32 cm. Length of
the side of thambus (in cm) is

(@l 18
{b) 20
(C) 24
(d) 30

A hemisphere and a cone have equal
basses. |t their heights are also equal,
then ratio of their curved surface will
be

@) 2:1
(b) 1:2
() 211
d) 1:42

The length, breadth and hé&ightof a room
are 12 M, 4 mand 3 m, respectively.
A man wants to put rods of lengths
14m, 12m 13 m and 15 minthe room.

Maximumm number of rods which he can

put in the room s
a) !
(%) 2
© 3
(d) 4

\f the meanofx | X,is 7.5 and the mean 81.

of X, Xa %18 8, then the value of X, is
(3 9
(b) 8
(c) 7.5
(d) 6

-186-

78. Tk HHAD o fyepf] ol envarean 24 &1,

1 32 W ¥ ) wrrgefn 3 o )
(¥, ) &

(a) 16
(b) 20
(c) 24
(d) 30

29, us aefer 3 G IF & YR FHE

3 | gfe 37 Fdal st T B, A I H
g} 1 ST B

(a)2 : 1

(b) 1:2

(c) V2 :1

(d) 1:.2

g0, FH H wE, HSE qUl ST HA:

12 o, 4 . qen 3 1. R | T HEH W
it 14 ., 12 1., 13 . 7o 15 .
el e} o TE AEdl ® | §9 FAH IR
sifirran frat o2 =1 T@ gl B 7

T x,, x, FATEA T 5TUX,, Xy, X, PR
8%, x, 3 A &
(a) 9
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)2.  Which one of the following is not included
in classroom communication ?

(@) Indirect communication
(b) Informal communication
(c) Silent communication

(d) Formal communication

83. For which purpose circular type of
communication is most suitable ?

(a) Member dissatisfaction
(b) Effective jJudgement process
(c) Member satisfaction

(d) Effective transmission of
information

B4. Listening can be best defined as

(a) The physiological process of
decoding

(b) A process we use to make sense
out of what we hear

(c) Forwarding the information that has
been communicated

(d) Recalling information that has been
communicated

85. What is meant by responding ?

(a) Focussing on a particular sound or
message

(b) Sorting the various sounds that
draw your attention

(€) Confirming your understanding of
a message

(d) Assigning meaning to messages

85.

-17-

83.

84.

5
g2, fmafafas & g #H-8 AT T

(@) ToeEl gEEl
(b) ST FEET
(c) H el

(d) s @

%Ha%:ra%@ar_ﬂwéﬂﬂaafﬁfuﬁ
IR 7

(a) @EE STEE

(b) amw fofg wisE

(c) T T
(d) GE1311 = HaTH S

T I waife o=t ate | AR
foperT ST T ©

(a) eara i ek wisan & &7 o

(b) S EHFAA & FereR e forahrer) 1 g
U U % w5 H

(c) HeIhe =i T Fer ol s w5
(d) T =1 778 AT @6 e S

Sfdfsran 5 & ama = w3 2
(2) ek fafeTee STt o e o e
FET

(b) 3T T e Freit fafir st
& Bzl

(c) @W*Hﬁ@ﬁmﬁgﬁ
T

(d) Feum 1 74 Yo T
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; . and mean of the first 10 prime
8o. ﬂu' mbe“rs are M and m, respectively,

then

fal M=

(p) M>M

) M<m

(d) None of the above

87 Mode of the observations 0,1, 6,7, 2,
3,7,07,2,6,6,7.5,0, 7 s

(a) 38
(b) &

e 7
(d) None of the above

88. The proportion of various items in a pie
diagram is directly proportional to the

{a) Area of slices
(&) Angle of slices
(c) Length of curved arcs of slices

(d) Perimeter of slices

89. The relationship that exists between

3 and 11 will exist between 7 and

(a) 22

87.

83.

SCa T Rr— Lol
HTEA ST M afem 3,

(@ M=m

(b) M>m

() M<m

(d) IWIE 0 Fd TRl

Yevii0,1,6,7,2,3,7,0,7.2,6.6. 7,
5,0.7$!a§aa;%

(a) 3.8

(b) 6

(c) 7

(d) Iulier 8§ F HI3 el

us wid Rm 1 fafi= J6l 1 g feae
T B 8 ?

(a) 9N & &TFA &

(b) AT & VT &

(c) T < Fk ATdT il oIS

(d) A9 & afEl &

I HrEy 3 3R 11 0 R 98 Ty 7 o7
g g ?
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90. Which of the followin.. .
IS a5 type of

?

(@) Lateral communicatig

n

horizonta| communication

{b) Downward commumcm.
ion
(¢) Upward COMMunicatig,

(d) Neutral communicatim

91. Which one of the following can be
termed as verba| CoOmmunication ?

te) ProfaS§Or Sharma dglivered his
lecture in the class

(b) Professor Verma gave the

message 10 the students through
mobile

{(c) The child was erying to attract the
attention of the mother

(d) Deepak wrote a letter for leave
application

92.  Communication through gesture is
related to

{a) Kinesics

(b) Proxemics

(c) Para-language

(@ Non-verbal behaviour

93.  Which one of the following is not a form
of communication ?

(a) Interview
() Reading interesting novel
(c) Discussion

(d) Social interaction

90,

91,

92.

93.

Wﬁf@ﬁﬁi&ﬂ:{—méﬁﬁwﬂﬁ
BEntE- 2

(@) 7R wroiyeur

(c) TR erriyger

(d) TTe grimy

AT & 1 i FareFed T T

(a) Sew g 3 s s FA A
fean

(b) Wsay w3 sy Hem HEse A1

(C) il 31 BT 3yl A AT b ferd, S
@

(d) Mﬁg@%ﬁmiﬁqwﬂw

FTE- YT ZRT Tu0] G ©
(a) =T B

(b) sTiFafE |

(c) TI-TTE< |

(d) amnfecs =ER
frafefiaa o & = -a1 vs 9uwor & &9
T2 7

(a) HIETERR

(b) TS ITATE TG
(c) TR

(d) weTfor 3v:faman
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g4 In acooe !
41 - 32 =55
42 - 34 = 16
54 - 179 = 4B
tren 34 - 2218
(a) 11 (L) 44

(cy 46 (cf) 64

095  While introducing @ man (o her husband,
a woman sad s brothar's tather 15 the
only san ol my grandfather How is the

woman related to this man 7
(@) Aunt (B} Sister

(c) Mother (d) Daughter

9. Hd4x6=1812 5%8=2415,
6x9=2718 then / x 6 =

(b) 2428
3642

(#) 1821
(c) 3035 (d)

97. In the following table, missing number

X185
’ 28

25 31

22 X 34

[ 20 24 kY. 36

(a) 24
(c) 30

(&) 28
(d) 32

g4 faah e ofa
41-32 = 55
42-34 =176
63-13 = 48

Mm3s-2219
(@ 1
(c) 46

qfiferd #0341, 1

w3 ifa @ :
g5 & oY &) s f 5 fe A ]

e 1 4 & w& wrd

gaeha g1 ¥ 1 ug oh a8 PCILEGE G
mafaa k7

(@) < (b) «8d

(e (@) '

o6 uf2d «6-1812 5«8 = 2415,
Gr0-2010 M7 x<6=
(8) 1821 (b) 2420

(c) 3035 (d) 3642

97  frfesfran aferan o eqa wioun x ¥

25 3

20 24 32 T 38
(8) 24 (b) 28
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8. In a contain code, TABLE s witton a3
UCEPJ, then which o the tollowing
code world be writlen for CHAIR 7

(a) DKMMT
(b) DJOMW
(€) KDFAT

(@) KCGOD

90. Eightfriends meet a1 a party Each one
shakes hand with sach of the Atiar

once. The numbsr of possitle Hin
shakag is

(a) 64
W) 56
(c) 28
(d) 20

100.  ‘Someg languages are difficyt 10

laarn,
Sanskrit jg 5

language, Therefors,
Sanskrit is ditficyt 1o Isarn.” This

involves the fallacy of
(@) Undistributed middia tarm
(b) Composition
(c) Division

(d) None of the above

21

9% % Shah Sy #72 # TABLE 1
UCE R, foren a2, 1 CHAIR F1
friafidogn i 3 fpms A1z 8 Ferem
A
(3) DKIANT
W) IOV
(c) KDFAT
(d) KCGOD

a2 feed g, ok 4 Saead B ) ad) gain o,

an v furma # | aearfaa vy (g 4
iy ¥

fa) 64
by 56
c) 28
(d) 20

100, " seif g & whag oy 9, A

1NN A A g g 8z n s
b nh, 2 9

(8) H2UPA topy g
by i,

(c) P

(d) Z4vm 1 B oY 4y



	01.pdf (p.1)
	02.pdf (p.2)
	03.pdf (p.3)
	04.pdf (p.4)
	05.pdf (p.5)
	06.pdf (p.6)
	07.pdf (p.7)
	08.pdf (p.8)
	09.pdf (p.9)
	10.pdf (p.10)
	11.pdf (p.11)
	12.pdf (p.12)
	13.pdf (p.13)
	14.pdf (p.14)
	15.pdf (p.15)
	16.pdf (p.16)
	17.pdf (p.17)
	18.pdf (p.18)
	19.pdf (p.19)
	20.pdf (p.20)
	21.pdf (p.21)

